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6 Solve each equation or pmblem Find your solution and note the two letters next to it. é
' o “Write these- letters in the two boxes above the exercise number at the bottom of the page " 3

"'00000000000@9000000“0009ooOeoQoo@oo@ao@ao@“OOOO“@“‘@ 7'

> e
1 3x+ 2(5x + 4) = 47 2 x - 3(2x - 7) =76 ? answers
., = e ;
7
3 Jack said, Five tlmes my age in 2 years is 100 o ? RIE]
' How old is Jack now?. ® - Sy
g |A|S|12cm
S(X'*' Z) = 100 ©
Jill said, “Eight times my age 3 years ago equals ¢ ? |Cl|A|8f =
104.” How old is Jill now? ' é '
Blx-2) =104 ... xe7 s |B[S|1.__
5 The length of a rectangular garden SRR (&) T!I0O| 48°
is 7 ft more than the width. The x FBEREREE e
perimeter is 50 ft. Find the width. @ |
i ¢ |L|p|s
2(¥+7) +2x=50 ] A
e 6'I‘helengthofarectanglels3cmlessthan4t1mes ¢ |I'|E}j20cm
- the width. The perimeter is 114 cm. Find the width. & D|E
2(4%-3)y+2x= 114 H =
7 The penmeter of this hexagon .+ . - 2"];1"1 ¢ |P|Ejofts"
is 162 cm. Each longer side o T L i
- measures 1 cm more than twice - e ¢ |LjO|13cm i
“~a shorter side. Find the length R © st Gl
of the side label g e Iylilse
2l = Loz ” ¢ 4
- . 87 |OIN| 14 s
‘&a tape costs $4 less'than a CD. Oshkosh bought - a
one CD and five tapes. If the total cost was $70, o
~ what was the price of the CD? | a N|D|s15
5(x-) +%x = 70 e |wj1|-1
9 The sum of the measures of the A ® s
- central angles of a:circle is‘360°. - * - e |1|IN|18Sem
: Find the measure of each angle ?
labeled x. Zx_q\ {"3)( 3 (DO | a S|H .16
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